Suggested Answers to Revision Exercises 5 of Textbook

Multiple-choice Questions

	Question
	1
	2
	3
	4
	5
	6
	7

	Answer
	B
	D
	B
	D
	D
	B
	C


Structured Questions

1..

Food materials can be bought at lower prices because of bulk purchasing.


.
Loans can be made at lower interest rates and more easily because of a better

Image.

There are management economies because some work can be centralized, e.g., purchasing, advertising, stock keeping and personnel recruitment. Less staff is required. Moreover, top professionals can be employed for better management. Shop premises can be rented at lower rental per square foot and in better locations.

There will be more customers as expansion may increase its market share in the industry and customers appreciate its goodwill.

(Any 3 points, 2 marks each, maximum: 6 marks)

2. 
(a)
Business registration fee, driving licence fee and car insurance payment are

fixed costs to Mr Lee.
(3 marks)

These costs do not vary with the number of taxi trips.
(2 marks)

They have to be paid even if no trip is made.
(1 mark)

(b)
Petrol expenses and maintenance costs are variable costs
(2 marks)

because they increase when more trips are made.
(2 marks)

3. 

The set-up cost for ten shows is the same as that for one.


There are reserves. Expenses on back-up facilities required per show diminish as

the number of shows increases.

With more shows, the advertising expenses per show decreases.

With more shows, there will be bulk purchasing of materials, which can be bought at a bigger discount.(2 marks each, total: 6 marks)

4.
(a)
Fixed costs

. Business registration fee is paid once annually to the Government and it



does not change when output changes.
(2 marks)

. Rent is fixed for a period of time by the rental contract. It does not change


with the level of output.
(2 marks)

. Management fee is fixed by the management company according to the


management contract. It does not change with the level of output. (2 marks)

. Government rates are fixed costs as payments do not change with the level


of output.
(2 marks)

. If the number of hair stylists is fixed, the monthly salaries of the stylists are


fixed costs as wage payments do not increase with the level of output.

(2 marks)

Variable costs

. Shampoo expenses are variable costs because more shampoo will be used

when there are more customers. Such expenses increase with the level of



output.
(2 marks)

(b)
Variable costs.
(1 mark)

When the number of customers increases, wage payment increases. (2 marks)

(c)
Jerry is an entrepreneur.
(1 mark)

He is responsible for making major decisions for the salon.
(2 marks)

He bears all risks for the salon.
(2 marks)

5. 
(a)
Top managers and modern equipment can be employed so that the supermarkets

are professionally managed.
(2 marks)

Complex division of labour is practised to enjoy the benefits of specialization.

(2 marks) 

(b)
Supermarkets enjoy lower interest rates for loans as they are considered as safer

borrowers. It is easier for them to get the loans as banks trust them. (2 marks) 

(c)
The supermarkets may get their goods at lower prices from suppliers as they buy

in bulk.
(2 marks)

Marketing expenses are spread over a greater number of shops or a greater

amount of outputs.
(2 marks)

6. 
(a)
Short run.
(1 mark)

The firm has both fixed factors and variable factors.
(2 marks)

(b)
The law states that when varaible factors are added successively to a fixed

amount of fixed factors, other things being constant, the marginal product

of the variable factors will eventuallyaiminish.
(3 marks)

The TP and MP are calculated as follows:

TP (units)
MP( units)

210


---

256


46

315


59

360


45

407


47

The marginal product of labour reaches a maximum and eventually it diminishes. Thus, the data illustrates the law of diminishing returns.(3 marks)

7. 
(a)
Expenses on stage set-up, costumes, audio and visual equipment.
(3 marks)

(b)
Average fixed costs will go down as total fixed costs are spread over a bigger

number of performances.
(3 marks)

